
1) Convert the following fraction into a 
mixed number: 54/35

Answer: ____________

2) Write 2 x 103 as a normal number.

Answer: ____________

3) Write 2 x 103 as a normal number.

Answer: ____________

4) 34/18 x 1715/16

Answer: ____________

5) 213/15 x 27/8

Answer: ____________

6) 48000 ÷ 1000

Answer: ____________

7) 4709 - (-2657)

Answer: ____________

8) Convert the following mixed number 
1319/10 into an improper fraction.

Answer: ____________

9) 74211.8 ÷ 782

Answer: ____________

10) Find area of 
triangle 
a = 7664 m, b = 
8696 m

Answer: ____________

11) Find the median of the following set of data:

6, 10, 39, 37, 32, 24, 3, 7, 10, 3, 18, 
26, 21, 40, 15, 34, 25, 17, 28, 6

Answer: ____________

12) 2/13 x 39/8

Answer: ____________

13)
37  Find Volume of 
                         Pentagonal Pyramid 

34
34

Answer: ____________

14) Find area of 
rectangle having 
sides a = 6201 ft 
and b = 2096 ft

Answer: ____________

15) Find the median of the following set of data:

15, 2, 17, 24, 28, 14, 16, 14, 26, 10, 
32, 15, 15, 18, 40, 14, 22, 26, 11, 30

Answer: ____________
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16) 9988 + 8561

Answer: ____________

17) 1869 + 2677.7

Answer: ____________

18) Solve by factorising 
x2 - 2x - 15 = 0

Answer: ____________

19)
37

Volume of Cone 
37

Answer: ____________

20) 23/
13 ÷ 12

/14

Answer: ____________

21) Round 21.43959 to the nearest 10000

Answer: ____________

22) Round 21.43959 to the nearest 10000

Answer: ____________

23) s7 * s11

Answer: ____________

24) b

a o c
Measure angle boc 

Answer: ____________

25) 'What is the probability of rolling a 
multiple of 1.when rolling a dice

Answer: ____________

26) 'What is the probability of rolling a 
multiple of 1.when rolling a dice

Answer: ____________

27) Solve by factorising 
s2 + 2s + 1 = 0

Answer: ____________

28) 14 * 11

13

Answer: ____________

29) (-2550) ÷ 51

Answer: ____________

30) What would you multiply by to 
decrease an amount by 21%?

Answer: ____________
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31) What would you multiply by to 
decrease an amount by 21%?

Answer: ____________

32) 38% of 161

Answer: ____________

33) 1/14 of 210

Answer: ____________

34) Round 6.797000 to the nearest whole 
number.

Answer: ____________

35) 88.6 x 89.7

Answer: ____________

36) Find area of 
rectangle having 
sides a = 4460 cm 
and b = 1417 cm

Answer: ____________

37) Increase 126 by 59%

Answer: ____________

38) Increase 126 by 59%

Answer: ____________

39) A number is chosen at random from 
1 to 75. Find the probability of 
selecting number less than 16.

Answer: ____________

40) (5 x 85) / (6 x 3-8)

Answer: ____________

41) Convert the following mixed number 
110/18 into an improper fraction.

Answer: ____________

42) Round 19.96097249 to the nearest 
10000

Answer: ____________

43) 6424 ÷ 88

Answer: ____________

44) Find perimeter of 
rectangle having 
sides a = 8954 m 
and b = 6093 m

Answer: ____________

45) Convert the following fraction into a 
mixed number: 43/35

Answer: ____________
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46)
37  Find Volume of 
         36               Triangular Pyramid 

38 36
35

Answer: ____________

47) 3854 - (-3205)

Answer: ____________

48) (13)-4

Answer: ____________

49) Find perimeter of 
square having each 
side (s) equals 7566 m

Answer: ____________

50) 36% of 39

Answer: ____________

51) A number was shared in the ratio 
16:72. The smaller share was 6. 
What was the larger amount?

Answer: ____________

52) Find perimeter of 
square having each 
side (s) equals 7668 in

Answer: ____________

53) Find perimeter of 
rectangle having 
sides a = 8827 cm 
and b = 8738 cm

Answer: ____________

54) Solve 11d2 - 15d - 5 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

55) b

a o c
Measure angle boa 

Answer: ____________

56) (-4137) + 6398

Answer: ____________

57) 8/6 - 16/19

Answer: ____________

58) 1479 + 2847

Answer: ____________

59) Factorise 7f2 + 18f + 11

Answer: ____________

60) Factorise 7f2 + 18f + 11

Answer: ____________
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61) 7065.3 - 3978.3

Answer: ____________

62) (q10)16

Answer: ____________

63) Decrease 201 by 1/67

Answer: ____________

64) 7% of 104

Answer: ____________

65) 6/115 of 230

Answer: ____________

66) Round 14.13242706721946 to 9 
significant figures.

Answer: ____________

67) Find area of 
rectangle having 
sides a = 6177 m 
and b = 5901 m

Answer: ____________

68) 32   12/20 - 12   10/19

Answer: ____________

69) Round 8.8 to the nearest 10

Answer: ____________

70) 28/15 ÷ 261/15

Answer: ____________

71) Find the percentage change from 152 
to 372.4

Answer: ____________

72) 28/4 - 39/13

Answer: ____________

73) 47.7 x 15.8

Answer: ____________

74) A number is chosen at random from 
1 to 75. Find the probability of 
selecting divisors of 18.

Answer: ____________

75) Find perimeter of 
square having each 
side (s) equals 1055 ft

Answer: ____________
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76) Find perimeter of 
square having each 
side (s) equals 3040 cm

Answer: ____________

77) 3897 - 1228

Answer: ____________

78) 46.9 x 47.6

Answer: ____________

79) 09:21 am To 05:49 pm

Answer: ____________

80) 33/12 x 19/19

Answer: ____________

81) Increase 417 by 97%

Answer: ____________

82)
16

3 /12

Answer: ____________

83) 5538 + 3373

Answer: ____________

84)
25

7 /14

Answer: ____________

85) 26/12 - 1/18

Answer: ____________

86) 5/58 of 174

Answer: ____________

87)

A = 58  B
Find the Angle at side B.

Answer: ____________

88) Find perimeter of 
square having each 
side (s) equals 7073 in

Answer: ____________

89) Increase 116 by 2/29

Answer: ____________

90) Decrease 299.6 by 83%

Answer: ____________
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91) A number was shared in the ratio 
55:30. The smaller share was 54. 
What was the larger amount?

Answer: ____________

92) A number was shared in the ratio 
55:30. The smaller share was 54. 
What was the larger amount?

Answer: ____________

93) 8547 + 6879

Answer: ____________

94) 14/5 - 31/16

Answer: ____________

95) Find the range of the following set of data:

1, 0.3, 4

Answer: ____________

96) Decrease 282 by 5/141

Answer: ____________

97) 7710 - 7560

Answer: ____________

98) (6 x 109) x (9 x 11)

Answer: ____________

99) Find the mode of the following set of data:

36, 36, 36, 40, 40, 40, 40, 40, 31, 
31, 178, 178, 194, 194, 194, 194, 
20, 20, 20

Answer: ____________

100) 16/19 + 36/15

Answer: ____________

Total: ___ / 100
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Answers:

1) 119/35 2) 2000 3) 2000 4) 57115/144 5) 829/120 6) 48 7) 7366

8) 149/10 9) 94.9 10) 25433822.037722m 11) 10.5 12) 3/4 13) 24529.419792664 14) 12997296ft

15) 21 16) 18549 17) 4546.7 18) x = 5 or -3 19) 53043.697560761 20) 25/78 21) 21.4396

22) 21.4396 23) s18 24) 24 25) 1/1 26) 1/1 27) s = -1 or -1 28) 12

29) -50 30) 0.79 31) 0.79 32) 61.18 33) 15 34) 7 35) 7947.42

36) 6319820cm 37) 200.34 38) 200.34 39) 1/5 40) 179159040 41) 14/9 42) 19.961

43) 73 44) 30094m 45) 18/35 46) 8201.6666666667 47) 7059 48) 1-12 49) 30264m

50) 14.04 51) 27 52) 30672in 53) 35130cm 54) d = 1.6 or -0.3 55) 36 56) 2261

57) 28/57 58) 4326 59) (7f + 11)(f + 1) 60) (7f + 11)(f + 1) 61) 3087 62) q160 63) 198

64) 7.28 65) 12 66) 14.1324271 67) 36450477m 68) 207/95 69) 8.8 70) 38/391

71) 145% 72) 40/1 73) 753.66 74) 2/25 75) 4220ft 76) 12160cm 77) 2669

78) 2232.44
79) 08 Hours 
28 Mins

80) 23/4 81) 821.49 82) 2 83) 8911 84) 5

85) 21/9 86) 15 87) 122 88) 28292in 89) 124 90) 50.932 91) 99

92) 99 93) 15426 94) 69/80 95) 3.7 96) 272 97) 150 98) 54000000000

99) 40 100) 323/95
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